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Section 2.1 #15

—-m/2 <8 < m/2.

Use the trigonometric substitution to write the algebraic equation as a trigonometric equation of 8, wher

53 =100 - x2, x=10cos 8

3 =10sm(6) | lwjue)| = 4o |sia (o) —2

los)he = .'!:S_@ —w—

Find sin # and cos 6. (Enter your answers as a comma-separated list.)
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Cofunction Identities
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Final Word on 2.2: For the "Graphing Utility" questions, I recommend Desmos.

When in doubt, you should be in Radians Mode. The wrench at the top right has those settings.
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2.3 Stuff I discovered a hole at the end of the 2.3 Notes and Videos.
I added notes, but there isn't a corresponding video.

So #s 46 - 50 that have no videos.

Section 2.3 Solving Trigonometric Equations
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Find all solutions in fo,’hf) of
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